



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 3rd Semester Morning Session: Autumn 2025

Registration #	Name	COM 111					COM 113					ELIN 216					ELING 126					ELIT 125					ELIT 215				
		English-I					Urdu					Introduction to Morphology and Syntax					Phonetics & Phonology					History of English Literature-I					History of English Literature-II				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-23/M/012	Asim Anwar	-	-	-	-	-	F	-	3	-	11	F	-	3	-	20	F	-	3	-	-	-	-	-	29	F	-	3	-		
IS/BS/ENG/A-23/M/019	Ghulam Mujtaba	-	-	-	-	-	-	-	-	-	16	F	-	3	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5		
IS/BS/ENG/A-23/M/041	Mohsin Yousuf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	25	F	-	3	-	18	F	-	3	-	
IS/BS/ENG/A-23/M/058	Sana Jan	-	-	-	-	-	65	C+	2.5	3	7.5	34	F	-	3	-	-	-	-	-	-	-	-	-	18	F	-	3	-		
IS/BS/ENG/A-24/M/01	Adeeba Manzoor	-	-	-	-	-	70	B	3.0	3	9.0	36	F	-	3	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BS/ENG/A-24/M/02	Afiya Sagheer	-	-	-	-	-	80	A	4.0	3	12.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BS/ENG/A-24/M/03	Afzaal Sadeer	-	-	-	-	-	66	C+	2.5	3	7.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/04	Ahsan Mujtaba Bakhsh	-	-	-	-	-	F	-	3	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	3	F	-	3	-		
IS/BS/ENG/A-24/M/06	Aliza Bibi	-	-	-	-	-	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/07	Amna Eman	-	-	-	-	-	74	B	3.0	3	9.0	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
IS/BS/ENG/A-24/M/10	Arif Ullah (Withheld due to Fee De	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-24/M/14	Atisham Shahid	-	-	-	-	-	33	F	-	3	-	11	F	-	3	-	-	-	-	-	-	-	-	-	12	F	-	3	-		
IS/BS/ENG/A-24/M/15	Ayesha	-	-	-	-	-	70	B	3.0	3	9.0	19	F	-	3	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/16	Bisma Naveed	-	-	-	-	-	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
IS/BS/ENG/A-24/M/17	Eman Fatima	-	-	-	-	-	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
IS/BS/ENG/A-24/M/18	Esha Bukhsh	-	-	-	-	-	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
IS/BS/ENG/A-24/M/20	Farida Batool	-	-	-	-	-	70	B	3.0	3	9.0	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/23	Gulzar Ahmed	-	-	-	-	-	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/26	Kanwal Abbasi	-	-	-	-	-	70	B	3.0	3	9.0	43	F	-	3	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/27	Kinza Zazar	-	-	-	-	-	80	A	4.0	3	12.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/28	Kiran Fatima	-	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/29	Laiba	-	-	-	-	-	70	B	3.0	3	9.0	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/30	Mahnoor Irshad	-	-	-	-	-	71	B	3.0	3	9.0	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
IS/BS/ENG/A-24/M/31	Mahnoor Kiani	-	-	-	-	-	70	B	3.0	3	9.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
IS/BS/ENG/A-24/M/32	Mahnoor Kousar	-	-	-	-	-	71	B	3.0	3	9.0	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/33	Malaika Azam	-	-	-	-	-	67	C+	2.5	3	7.5	39	F	-	3	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/34	Manahil Noor	-	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0		
IS/BS/ENG/A-24/M/35	Mohammad Usama	-	-	-	-	-	65	C+	2.5	3	7.5	43	F	-	3	-	-	-	-	-	-	-	-	-	44	F	-	3	-		
IS/BS/ENG/A-24/M/36	Muhammad Abu Bakar	-	-	-	-	-	66	C+	2.5	3	7.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 3rd Semester Morning Session: Autumn 2025

		ELIT 225					GEN 114					GEN-113					GEN-124					GEN-231				
		Poetry-I (Classical Poetry)					Introduction to International Relations					Applications of Information and Communication Technologies (ICT)					Civics and Community Engagement					Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-23/M/012	Asim Anwar	24	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	16	F	-	3	-	
IS/BS/ENG/A-23/M/019	Ghulam Mujtaba	5	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
IS/BS/ENG/A-23/M/041	Mohsin Yousuf	21	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/058	Sana Jan	25	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/01	Adeeba Manzoor	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/A-24/M/02	Afiya Sagheer	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/03	Afzaal Sadeer	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/04	Ahsan Mujtaba Bakhsh	34	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	
IS/BS/ENG/A-24/M/06	Aliza Bibi	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	96	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/07	Amna Eman	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/10	Arif Ullah (Withheld due to Fee De						-	-	-	-	-	-	-	-	-	-	-	-	-	-						
IS/BS/ENG/A-24/M/14	Atisham Shahid	7	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20	F	-	3	-	
IS/BS/ENG/A-24/M/15	Ayesha	34	F	-	3	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/16	Bisma Naveed	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/17	Eman Fatima	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	98	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/18	Esha Bukhsh	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/20	Farida Batool	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/23	Gulzar Ahmed	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/26	Kanwal Abbasi	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/27	Kinza Zarar	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/28	Kiran Fatima	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/29	Laiba	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/30	Mahnoor Irshad	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/31	Mahnoor Kiani	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	92	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/32	Mahnoor Kousar	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/33	Malaika Azam	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
IS/BS/ENG/A-24/M/34	Manahil Noor	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/35	Mohammad Usama	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	35	F	-	3	-	
IS/BS/ENG/A-24/M/36	Muhammad Abu Bakar	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 3rd Semester Morning Session: Autumn 2025

Registration #	Name	COM 111					COM 113					ELIN 216					ELING 126					ELIT 125					ELIT 215				
		English-I					Urdu					Introduction to Morphology and Syntax					Phonetics & Phonology					History of English Literature-I					History of English Literature-II				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-24/M/37	Muhammad Ali	-	-	-	-	60	C	2.0	3	6.0	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/38	Muhammad Usman Munir	-	-	-	-	67	C+	2.5	3	7.5	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BS/ENG/A-24/M/43	Rashid Abbas	-	-	-	-	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BS/ENG/A-24/M/46	Robia Khalil	-	-	-	-	65	C+	2.5	3	7.5	27	F	-	3	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/48	Saqib James	-	-	-	-	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BS/ENG/A-24/M/49	Sara Toufeeq	-	-	-	-	65	C+	2.5	3	7.5	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-24/M/50	Seemab Zahra Abbasi	-	-	-	-	75	B+	3.5	3	10.5	77	B+	3.5	3	10.5	50	D	1.5	3	4.5	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/51	Sherooz Ahmed	-	-	-	-	70	B	3.0	3	9.0	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/53	Syed Shamshad (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-24/M/54	Syed Zahoor Imam Naqvi	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/A-24/M/55	Tayyaba Rani	-	-	-	-	61	C	2.0	3	6.0	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/A-24/M/57	Zain Ul Abidin	-	-	-	-	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	39	F	-	3	-	
IS/BS/ENG/A-24/M/59	Zulfiqar Ali	-	-	-	-	80	A	4.0	3	12.0	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/001	Aatka Jabeen	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-23/M/053	Noor Ul Amin	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-24/M/004	Amna Bibi	-	-	-	-	70	B	3.0	3	9.0	29	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	F	-	3	-	
IS/BS/ENG/S-24/M/012	Huma Basharat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-24/M/013	Iram Noreen	-	-	-	-	72	B	3.0	3	9.0	36	F	-	3	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/S-24/M/029	Sameer Aamir	-	-	-	-	50	D	1.5	3	4.5	16	F	-	3	-	27	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5	
IS/BS/ENG/S-24/M/030	Shah Zaib Arif	-	-	-	-	74	B	3.0	3	9.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/ENG/S-24/M/035	Syed Irshad Ahmed	-	-	-	-	55	C	2.0	3	6.0	56	C	2.0	3	6.0	-	-	-	-	-	57	C	2.0	3	6.0	50	D	1.5	3	4.5	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 3rd Semester Morning Session: Autumn 2025

		ELIT 225					GEN 114					GEN-113					GEN-124					GEN-231				
		Poetry-I (Classical Poetry)					Introduction to International Relations					Applications of Information and Communication Technologies (ICT)					Civics and Community Engagement					Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-24/M/37	Muhammad Ali	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	
IS/BS/ENG/A-24/M/38	Muhammad Usman Munir	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/43	Rashid Abbas	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/46	Robia Khalil	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	
IS/BS/ENG/A-24/M/48	Saqib James	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/49	Sara Toufeeq	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	96	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/50	Seemab Zahra Abbasi	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/51	Sherooz Ahmed	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/53	Syed Shamshad (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-24/M/54	Syed Zahoor Imam Naqvi	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/55	Tayyaba Rani	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	96	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/57	Zain Ul Abidin	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BS/ENG/A-24/M/59	Zulfiqar Ali	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BS/ENG/S-23/M/001	Aatka Jabeen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-23/M/053	Noor Ul Amin	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/S-24/M/004	Amna Bibi	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/S-24/M/012	Huma Basharat	19	F	-	3	-	-	-	-	-	59	C	2.0	3	6.0	73	B	3.0	2	6.0	-	-	-	-	-	
IS/BS/ENG/S-24/M/013	Iram Noreen	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BS/ENG/S-24/M/029	Sameer Aamir	28	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	37	F	-	3	-	
IS/BS/ENG/S-24/M/030	Shah Zaib Arif	34	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	
IS/BS/ENG/S-24/M/035	Syed Irshad Ahmed	31	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	62	C	2.0	3	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026